St. Mary’s School, Dwarka
Holiday Home Work

Class VII
Subject-English
Worksheet |
Q1. The following passage has not been edited. There is one error in each line. Underline each error
and write the corrections in the space provided. (1/2x8=4)
Incorrect Correct
Long ago a country of Gandhara a)
is ruled by a just and good king b)
Vidyadhara. Their subjects were very C)
happy, but as the king grows older, d)
everyone got more but more worried. e)
The king did not had any children f)
who would rule the kingdom after her. Q)
The king loved gardening. He spent an h)

lot of time looking after his garden.
Q2. Rearrange the following words to form meaningful sentences. (1x5=5)

a) are/books/ a/ rich/of/ knowledge /source/ and information

b) reveal/ the/ interests/ books/ a person/ mind/ and/ of

c) increases/ and/ reading/ creativity/your understanding/ enhances/ of life

d) money/ the/spent/ on/ well-spent/ books/ is

e) books/ pleasure/ their own/ have/ good/ of

Q3. Fill in the blanks with appropriate words. (1/2x8=4)

| a) (ride) my scooter when suddenly | b) (notice) a man sneaking past.
I ¢) (think) it d) (be) strange. After a minute or so, another man almost
e) (Jump) in front of my scooter. It f) (take) me by surprise. | g) (be)
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scared that my scooter would hit him. | h) (panic) and swerved the scooter to one side and nearly hit
a tree.

Q4. Your school has planned a visit to Taj Mahal for the students of your class during the weekend. Frame
five questions which you would like to ask the guide based on the following hints: (1x5=5)

a) built

b) time taken to build

c¢) number of workers employed to construct
d) Noor Jehan’s memory

e) stone used to build the monument




Worksheet 11

Q1. The following passage has not been edited. There is one error in each line. Underline each error

and write the corrections in the space provided. (1/2x8=4)
Incorrect Correct
Scooterists are the great cause of accidents. a)
They often try to show of by driving b)
at break-neck speed; they risk there own C)
life as well as that of the other. d)
Rash driving is one of the greatest cause e)
of road accidents. Bicyclists are also involving in f)
many accidents. While driven along the )
roads or cross roads, they should be so careful h)
Q2. Rearrange the following words to form meaningful sentences. (1x5=5)

a. mother/is the/necessity/of/invention

b. time/inventions/our/effort/save/and

c. compass/wheel/are/and/some of the/inventions/man/of/greatest

d. and culturally/inventions/have changed/geographically/our world/economically

e. inventions/our life/easier/made/many/have




Q3. Fill in the blanks with appropriate words.

(1/2x10=5)

a. The travellers found their hotel (easy/easily) after they bought the map of the city.
b. I want my children to behave (nice/nicely) with everybody.

c. Do you think you speak English ? (good/well).

d. I wish that | could explain answer (clear/clearly) to my teacher.

e. They (often/nicely) go to watch the movies.

f. She (rare/rarely) listens to classical music.

g.She is a good student, she (never/always)does her homework on time.

h. Radha is very punctual. She is (never/always) late to school.

I. She is a great dancer. She dances very .(good/well)

Jj. My sister (always/sometimes) reads the newspaper in the morning.

Q4. Your school has arranged a trip to an agricult

ural farm. Frame five questions which you would

like to ask the farmers based on the following hints: (1x5=5)

a) source of raw material
b) labour force

C) productivity

d natural Calamities

e) scientific technology




Worksheet 111

Q1.The following passage has not been edited. There is one error in each line. Underline each error

and write the corrections in the space provided.

A city of Venice attracts many tourists,

as it lie sparkling in sunshine, with

its buildings reflect in the waters

of the canals. There are much beautiful churches,
monuments and museums. In fact most of their
buildings are palaces long back, so they look
grand and stately. Some of it have been converted

of museums and libraries.

Q2. Rearrange the following words to form meaningful sentences.

a. increases/confidence/happiness/stamina/level/land

9)
h)

(1/2x8=4)

Incorrect Correct

b. teaches/unity/It/in/work/to/us

c. always/does/bring happiness/success/not

d. only money/many/that/believe/success/bring/and/happiness

e. astate/mind/happiness/of/is

Q3. Fill in the blanks with appropriate words.

a. Nice meet you.
b. I received a package my friend.
c. Are you new this city?

d. Jessica is vacation. She is Italy now.

(1x5=5)

(1/2x10=5)




e. The cat jumped ___ the counter.
f. Meena was hiding__ the table.
g. Look __the flowers.

h. Don’tbelate  school.
i.Don’trun ____ the classroom.

Q4. Your school has arranged an industrial visit. Frame five questions that you would ask the

industrial workers based on the following hints: (1x5=5)

a. manufacture
b. development
c. employment
d. new trends

e. scientific technology




Worksheet 1

Q1. The following passage has not been edited. There is one error in each line. Underline each error

and write the corrections in the space provided. (1/2x8=4)
Incorrect Correct

In the traditional sense, prayer mean a.

communicating on God. It includes b

verbal but mental prayers. c

There is various ways d

and forms to prayer like meditation, vocal e

prayers etc. As the fundamental and the foundation f

of prayer is not any of them. The fundamental prayer g

which is after all other prayers is humanity. h

Q2. Rearrange the following words to form meaningful sentences. (1x5=5)

(@) out of work / were / if advertisements / dentists /to be / believed / for toothpaste/ would soon be.

(b) heart’s / and you can / you / to your / just use / content / the brand / sweets / your favourite

(c) it guards you / no harm/ ring / with / will be caused / as / protective/ it’s

(d) unique / another / advertisement / that it’s/ whiten / can / teeth / claims / action

(e) may / specialists / actually / warn / that/ be harmful / be whitener

Q3. Change the following sentences from active voice to passive voice: (1x6=6)

a. Everyone says that honesty is the best policy.

b. The marvelous performance delivered by the children enthralled us.
c. Radha ate all the mangoes.

d. We have shipped your order.

e. The girl recited the poem beautifully.




f. The guests enjoyed the party.

g. The child impressed everyone with his polite manners.
h. A girl from Chennai won the first prize.

I. The readers like the latest book of the writer.

J- They are painting the walls.

Q4. Your school has planned a picnic for the students of your class to fun and food village during the
weekend. Frame five questions which you would like to the person at the enquiry desk based on the
following hints: (1x5=5)

timings

charges of the rides
concession for students
safety

snacks available

® o0 T




Worksheet Vv

Q1. The following passage has not been edited. There is one error in each line.

Underline each error

and write the corrections in the space provided. (1/2x8=4)
Incorrect Correct

The Egyptians were the first for make paper a.

from a reed calling papyrus. It grew in the b.

delta of river Nile in Africa. For the longtime, C.

papyrus continues to be used as writing material. d.

Then the Chinese further perfected an art of e.

making paper. The demand for paper increased while f.

books begin to be printed in printing presses. h.

Q2. Rearrange the following words to form meaningful sentences. (1x5=5)

a. killed/animals are/beaten/chained/and/mercilessly/trained.

b. their/heed/but/hears/or/pays/nobody/to/cries.

C. friends/companions/animals/necessary/are our/and/survival/for our

d. they/ creation/ God/ are/ a/ of

e. should treat/ we/them/ with/ love and affection

Q3. Fill in the blanks with appropriate words. (1/2x10=5)

a. Sheena reads the newspaper

b. I have watched this movie _ before.
C. Your answer is _____ correct.

d. We should speak the truth.

e. The little girl danced

f. The water in the bottle is cold.
g. The little girl was playing
h. He wakes up in the morning.




I. We will leave for Shimla
J. We solved our problem

Q.4 Your friend recently won the Inter-School Debate . Frame five questions that you would like to
ask your friend based on the following hints: (1x5=5)

a. participants

b time taken

C. preparation

d. schools participated

e. prize money
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Subject-Hindi

Worksheet 1

sz 1 fAsafafea sufda scgmer ®) ygor yzst & scaw dfse— (7)

forer o1 Rl seta A wifad o & @ | wel dm sit Higacdt AAr-fdar et weensi I feren
feetrer @1 favler wwa €,3M5 d #aeI 31elt deensit @ feen e @ fae sge fowas aa
€ | woen fagareri ® @l @ yz1 oo © fole ws-foler 3mmer o o | folen @ gema < 3maT
gdl {571 <Rl @ deuell ®wd &,d8 Urdle <kl - wden faioet 2 | 3151 @Bl ARl yeey & =arer
DU-A-oe fAcTdT sfidad © sv a3 d yardvr ©w J@l 2 | 3105 Bt ARl Rl ®l 31"el urdle
3IIGRI @I o 3eTdT, B2 31T 3nefaidar ®f Tmria A g¥ TedT 31Uel Uldel bl I YrI
®Tal ®I Wbcd Dol dlfee |arRl & ag efada
g Sil g G2l , <l 3T Tehid ol UdIfd @ Uel U 3ERIT ®T wddl ¢ | ol & 3ucued
w0 W ARd @ ezl € |

1 3151 @ HRcdl o<l @) fowd gr waen wnfee 7

2 =g foren aeit 3mzet ®t a1 & 7

3 ‘suefeimareiss 3 W 91 2 3 UR[ 3ic1e1 PifHE |

4 ‘Rrereiss @1 avf-faxde i |

5 ‘ol ereq @I fdeila o foife |
yed 2 fAsafdf@a smfea wremer o) gor s & Icaw dfsie—

fotefer =amera w71 I @I,

O

—~
[y

/N /N
k. (==
—_ — — O —

—~
(@)
~

A o ¢ fasimer were |
Sfiaet 516t & fbw <ctarn €,
€RY] HY oId Sfidel Add |
dcg v dfear, foreat

o % BIAR Sild sI8dT
fbv odel &Yl ®war g,

BRI Tl del d6IHw |
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1 A ol fasimer werer o=l wer drenm 27

2 e wl ARRar & oerwe sfla d a=n ufRada gar 27
3 ofd o a1 @} getonl foad o 87

Aafar el @ & yatuard fefe |

ORGSR
N——

uee1 3 Fefoifta e ! srqde ot @ 9 geeil ® e dffe— (6)

*q2Iq, gelbT ¢Rell Uz o , arl 30% fawwar =i |
oIRd dfeel 3mveft o , wra @ We uT <elal o | |
¢Te%l @ 4RI dol g8t , fda® wa ao fow uriel |
J1oigd geIcl @ folotol, d adl U e SIRi6 | |
foen foedt o g1 3R q fow oft a1ens ®war = |
¢Rg dfeet 3mveft o o @t wE Uz wetan oi | |
d et 31ben fww oft, oo € ol fessia gfden d=deft |
q. 3151 € difolel @ <al, ®el gsid! dfsiel aedlt | |
®Icl & ol € 31I% WS q,, adT 3161 dedl ol |
olRd HAfPwel 31veft ¢ @ @ e U el o | |

(®) ot o ar et 47 2)
(Ra) a1t ure DYt B urEen? (2)
(a1) ‘otenS wreq w1 faeiion e fife? (1)
(a) ‘gfoter er @ <) wafaard e fofe | (1)

uee 4 fRefafRia sera @) eegde et 98 9 gesl ® Jcax dfse—

dR-4IT UG 3IIcil & TP,

LR AG TAUe vl |
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IR ol IFRIl o Sildel o,
A Awd <geft ARl |

flar-=fea Aetetr-=are,
a fowen fFefar wacsq |
@ el S whal ¢,
aUel I 3igfeld 31161g |

() ofd ar-ar fBus! U o zar &7

(Ra) o o1dl efem S DA !

(a1) ‘fRefar’ eres @1 avi-facsa wifsie?

(e1) ‘Sfiael erec ®1 fdela o foife |

Worksheet 2

yeet 1 fRaa st ot gfd sfda siaare wen ol & sifce —

1 IS BIHA A ... W @ oo | (eret )
2 dif & ol & ...... @I ara & | (d1aH)
4§ IS A ... & | (after)

neet 2 3fda ol qora Raa werel ot gfd oifsie —

1 ®IIH7YI d8 2RE 8, 5l ANl D ......... T DI sllel BRI ¢ |
2 ........ ® foRaal @ @a1 @ AT wea 2 |

3 uondl @} faf.......2 |

4 YT @ AR T .....30% ...... gd ¢ |
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ea1 3 fe o ol 4 @ faglvr vs Bicww sud aq ke — (2)
1 %I o HAld bl W |
2 &t eiis1 = qu wnfee |
3 wdilsl @ fae diar sflcr wust anfee |
4 g% 3nced 05 @ ol dor € |

seal 4 fasafafea e o1 aui-fasde ifse — (2)
1 AT 2 AdeTfdD 3 uprRl 4 Afa
aeal 5 fRefofla wiwensi o usl ¥ fAfee — (3)
7 16 19 27 29 30
ea1 6 fAwifoifa gemae o aael d wier sifse— (3)
1 cdl 3eTeTenr 2 often faxarenm 3 &ar & sien
sea1 7 fAeafafa sofea ©f amxil ¥ gwier oifse— (3)

1 30 61 o€ oire 2 fRawrnett faeefl =don sl 3 siem oen @@ <) 3T

Worksheet 3
sree1 1 fAefcif@a ufda srcgrer ®f e yesil @ 3ar dfse — (5)

e fRacllal dramw Yeifdd &l 3od | d &= cliwr Racilal &1 dlcTelia ®ral ol9ld | yBd—
“swomr I o1 & 73t suwl /fRacielae ol ®f Sxadl 30T 3e®! dedl-oteel Saifclei & 4=
ol clan 3fiw @l @t soeeIR 39 fRacitel & <l | Ractiel dlov fbr awd 38cTal-sgel ee1d
3 aq e Racilaren 3+ yoR BT ®edl — gl & deaRddl, RIcedl | AP
feciiz @} aiifd 3w AG® 9Na dlcilelr © ADIEI d 5w 30T A 3 30T dd clezIdl G310
ugadl 3w Racelaren 316 §¢ S |

1 U6 iz ciae @1 e fofe | (1)

2 fRciidlarl & awd fdwa ave diietena dewa & 7 )

3 fRaciioiaret @1 wax dwr e’ )

4 ‘uRR 2 ®f sl o e | (1)

5 ‘0 e @1 avi—fawse i | (1)
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yee 2 fRsfcifda uesit & s dfsle — (2x8=16)
1 veft waas Selr Tl TEd 87
2 &Il ®l Y ® 96 clad © ux oI nfefe fFefd v =i & a7
3 ‘Boydefl =leid ®idal A gl oo Wi et & ?
4 fHorSaren gt @t € st @@l derer en?
5 ®IBI DlcicldT. ol ddfGel ol clldbdlcl aell dal &7
6 GIdl A B wdelld I ®lel AT Ul 31Ud] HTA 3Bl ¢loldl & 3ite ol ?
7 fearera @t arn & okaw o foda-fda o) geren ot 27
8 ®oUdcil ®I Il adl 31T/
uea 3 fAsfafRa uedl & 3aw dfste— (2x2=4)

1 Uisdl @I Sfodl Dl §31 7

2 oflar & g @1 au el foan?

Worksheet 4

126l 1 Wdd fagsil ® 3 T 60 | 80 2l df 3ieqedq fafee — (5x1=5)
HAATIR U — 1 offA®I 2 6T Bl Ucllds 3 3URIBIR

Ueal 2- Hell & B & T Hells fddbfdd ® d 3 ddld ge 31Uel glamst & u fafae |

(5x1=5)
ueel 3 ‘310 B ddet @ e’ vw fAeue dur Sifsie— (5x 1=5)
e 4 ‘1P @ dew e ik e @ da-tar du & v sadla o) wae § v
fifre— (5x1=5)
eel 5 wod fagsl ® 3mae 9T 60 @ 80 vl i wael fAafke— (5x1=5)

50Tl H......... ) AN feler o fdAder ......... D g3l Bl fGxael...... 36T IR0 ......adl Sase
BTl ......... daflcs 3wt apwT @ el ......... 4967 9K ® Usil @ fAele......... fAee 3w
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ol faerer......... QIR 3[BT A did ol 30T goe ...... QT @I Feloll 30T AT ...... QIRIG
W1 dleTcl 2...... AR BV T8l el ...... SlCIE IBT B dvb A AT BI SAE Coll...... R

Worksheet 5

Jreet 1 fRefaffa swne o ok g8 9 ueei & 3ax dfsie— (5)

sielfaics Sftaet A o1 @1 3ifeid Fecea foan st ofom @ | wafaa 3fda-smeifda ot fdar &
BTD el Hlel Bl Gls A 191 IRM 2 | €] Silaed & fole 3ragas &ldr 8 | del-ure, Tgod-
gol, avsl-dAdle 3fc @ e & ot nagawmdr gldt 8 | swfele ¢el @l 3den & dgcea ol
nfee foiden smageas 2 |

AT Sildel Ddcl eel Bl 30T 3D SDHCSl Dol ® fcle oIdl goll & | Sfidel d AT
dGccaypl 8ldl 8, <ddIedd Sildll | Bel-duc, 30, R, Readwdl?l 3w dSdredl = e @I
3[€IZ ¢191el dlell ®I wddel o1el dlal | 8 cafdd dieI-wddiel ®t foar «1dl ®wd | Jetwl 3iTwdl
uz uedl aeft wedt @ | SHeIar) @ ®Rl ®ed sfiae sfial aredl @1 weft e o & | St
¥ DRI JIRI ¢ gl UfuTel adl ¢ | SHAreiaR @afad sl © diiwd gld & | SHlelar afdd
®I A2l TR D el Udimdl & | gel @ ufd e cANIDT clleTd 3 of BaAdT &l wdHeIdd
foten =11 wwar & | ¥=a Sftaer sfiet aret €t =rear sfide sfia € |

(@) @1 @} snaeadwa foafae sidt & 7 (2)
(za) oISt t DA cllell @I HIHACT ofdl Ear ! (1)
(1) et & sftva @t gl & 7 (1)
(a) ‘snegfae’ eee @1 avf-facse @ifse | (1)
uee 2 fRaa weE o) gfd 3fda eaarae wen 2l | sifse — (1x3=3)

1 TG ... & gt e | (arcen)
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2 2Eq B ...... B ofdl gl | (aftor)

seel 3 fo 9 amaet 3 & fAYivvr o Sicet s da ffke — (1x3=3)
13t smen foent a2 =ame |
2 T e ft efioft wnfee |
3 d8 ¢IS®I WSH ® fdaR Wel el & |

eel 4 fAwfofia el o1 avf-facde oifsle — (1x3=3)
1 T 2 AWCIl 3 feen
uedt 5 fosaifoifia gedit @ 3w difsle — (2x3=6)

1 uefl wads Teme 3uelt dle-wla  swon §f o ea 8?

9 FIRa® B 31Uelt gIdt I Bl UG D ATI-<AIe TaUed Bt 317 fDe-fded arcl @t AaIe 31t
&7

3 Al @ 316 Uz edl @l @en ufdfgpen gidl eff ?

Ieel 6 wdd fdgsil @ smu T 60 & 80 vl 3 3o fAfke — (5x1=5)

Rdcll ®I Asced— 1 SfdA®dI 2 ~dcil A 31 ol 3 HAlerdl 3ol &1 fawr |
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Subject- Sanskrit

Work Sheet -1

uee 1 3iehfelfRad drqarer ufocar ugee 3cawd —
URI qeeaye A Uk Jg Ruds 3Ald | =3 ufeerelt qraeft aen wwereastas sm=ile
| eI Teares USRSl | Uwdl o 3IcTAR 3MRiel |d RfuerRid fugs wasdare o ddfed
¥ |51 T duIe] RfterR] wics 3M-Eld, | 3R, BRI JaRu®ds fafedar] |7 g6,
3ITERI 31dGe, — 1 &Y dfcd] oIeid] 3ifed | YSR wdd, Sfcdl Uvdeell3 3181del, | STolde=l
A U, o &1=fol 31l Uwdl €IeTdl of Uladl | o felerems 31eiaey |dAIs UROIRI o
&y disnfer 3rauet | eRRIZIGIefer aNfol grear d ItasIeial, REvRIS, 3I5Ieiel |

AATDITS | I RN =l qers |

1 ©d Ucd 3Iard - (1x4=4)
(@) Yo RuUGR BiA g 3ee]?
(Ra) @ e, erota, 31z ?

(B1) & o TEwE 3Gele, 7

(1) @ wdd el GeHool: 31ds] ?

2 yuidlaelad  3clRd - (1x2=2)
(@) oz Plgen 3mfa?
(Ra) gome war  é=nfor srde? (1x4=4)

3 fadernerRer era -
(@) ‘Stetpers’ uawl gt ucH feiwad |
(Ra) ‘areerdt, erotel uceis f@er faviver uee sifza 7
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ugel 2 3reifcifaa smfda srczmer ufocar ugee 3ca=a -
Hifelenels sEemen ufvsar woEE 1858 dAl fRuseled siedl 3icieid | awes faar
3icfea@le=ll Slee dAldr o cledilars 3w | afesisy ot Slifereem  feefas
faocretten siredla | #=fion @a wwqafeienT e sdafcild oredld | feeg s wfeas
SO UfTcelsel TdUcell wedpad] 31U | Bcaefd w13 <o Udreeld] 3ifT)
3IAEd | 3lefodiy. ol 3T Tadlcs HAvRdieial] MIcdd! | ®leigpdivl ZrRm fuar fausss
ol | awems faamt soieer aifoieft @ gfeferdifsar: fadgerar | deoeae =em <a-

SAGHE w6 UGl Tdl SRcld] 3131dic |

1 P ueel Jored - (1x4= 4)
() ®feret & onars sm@memn smefla ?

(Ra) ZeTaTS WaT Sfed 3IcTac, ?

(a1) afeerer et ==hfrerean fFeafad wigeft smefia?

(&1) %o waengs e faverea e uradddt ?
2 yofaraela  JcRd- ( 1x2=2)
() worem rafasie fder o6t sreta?

(7a) SloR BT BIOIT FASIRI IR, TG !
3 fadensgaror 3era - ( 1x4= 4)

() 's1a191e fdar ue wyod @i eIdR o foiad |
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Work Sheet -2

ged 1 fa~e1 gtc@l  Geauclell wERIGRN  fRadverefd yzad - (1x5=5)
oo =  ASTERATTA, Dogd, Wellfel , PISIEARRT |, Qe
(1) scot wwer ------ e, aifea |
(2) 301 was BEE —— @R |
(3) & awcI®t ------ 2T Pisas |
(a) qerea sufe ------ =Afoed |
(5) fo sep ------ =Afoct
yeel 2 Zafdercrere quiel gdel fasl ufd feifaet s use Sfdauds qrera | - (1/2x8=4)
cifzaenfad |, ®eren , ddoes |, [gafaser , ufeeereficms , enefes |, sezmu®n |,
ZafdegIeTa==a
[ s | I G s
facett |

fesitps- 20.07.2019

fgar fatr fawre,
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ad , UIGRI3 ,  JIeofd , UIGSICIRIG,

3MaIgels , JMRIefd , s , eRivd , JxalucenR , fadfvey , deRs , Wcud

g2 4 ( 1/2x8=4)

3l eps [1] ------ 3ifzd | a1 el Jufe s [2] ------ 3ifed | oS waps =aers
ufzarvr we fAawafa | aufers smerefa | =6 s Zxde faswsfa | ewar ews [3] ------ I
s1ercsfa | efide w1 gedl 3ifed | =aer areed ueafd oerRfa = - fax! aa [4] ------
wAGed 3ifvd | e g [5] ------ foareio] o wrif”? fdaeisr efiadise
31e1aaf | aretes a1 adetd, onfa wfuas = emafd | =18 gerey [6] ------ o silsd
=qusers ®ifd | [7] ------ vd Jadel sifed - el [8] ------ atafa

yeel 5 fose wafdcar dae g qumvme e wgd forad | (1/2x4=2)

U%d 6 ®dd ddvd PRoIIe] oldl weRd foldd (1/2x4=2)

Ugel 7 ®del TcdlRs ARG, oIl HARd folad | (1/2x4=2)
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ueel 8 "fcmrd Tafdcar Avqa eI foaa (1/2x4=2)
3.00 , 3.15 ,3.30 ,3.45

Work Sheet -3
ued 1 sienfaifRada fede wrenardie: Raaeerenfa grea - (1x4= 4)
(1) e ------ srafeer | ( 9)

(2) Blegy ------ erm pisfo | ( 33 )
el 2 fasafafzaay vy wfer omwa | (1/2x4=2)
(1) war + sife  (2) faent sreft (3) wwar + 3metows (4) @ + 3meRe

ueel 3 sienfafay Raawemy ugfd gerRr Rl aaenfd oead - (1/2x4=2)

)
(2) 3@ gl ------ ( a9t + qaret ) 3eneid IrcoIfa |
) ®EmE afes ------ ( =z + wcar ) woRI weha felwafed |

U%el 4 ®IS®d Uaed fad fasifaa Jaa uca Raaenmeafa grea (1/2x4=2)

(2) ---—-- sifeiers et wAfeet | ( Qarererer,/ ddrerdet )
38) ------ ufd 1 91 | ( e/ e )

(2) feter ey ------ | ( ol / opdor )
ueel 5 3fca st varfa faear Radwenenfa qrea (1/2x4=2)
oI wAGl  3IEl ga3  ofd
(1) sReas —— =afer |
(2) wAeraravs 31T |
(3) sm@e — stergeat Ifdreafar |
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H2d 6 erq syl fel=ad | (1/2x12= 6)

1eel 7 2l wuifol felmaa | (1/2x12=6)

Work Sheet -4

uge 1 3ieifcifaa ufca scarer ufsear gedre 3ewa -

erizelfda Aeerfea gofaerfam seerfea o |ewefem erkw fasrmR Aemefad
C2RRI YRR SleTelfads STeleld, Jftibreevme  gafaerfaas o fadsderr deccayu
ad o |efeay gfcxrefed: Siver add | gefels faen emsifte a1y 3ifa wrefe a1afd | gagan
faenerer: a2 31T uwsace: foerd | gagen va dreras 3rAstas] 31 wHard ®wfa |
36i® TdcmrRE 3T gegen va fopeed | gafeare oo -d ymeId | 318 Aced
3aad, — gt aeT a1 |
1 b uee Joed - (1x4= 4)

(@) @1 arfdes et ada?

(za) w1 faen emdifie aeter 31T wrefar srafcd?

(a1) gafearerde: o Asccayunt ada?

(&1 )erétzeifaa: wwr fawrarn siafa?
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2 yofaraelel  JcRd-

() gagzn @2 uworeacH: fHaa? (2x2=4)
(Ra) 8 wAdy yoIA?
3 fadensaror 3cra - (1/2x4=2)

(@) wafd ’ fdar ¢ gead a1g ciorR o o |
(Ra) sreycdard ¢ 3icraucnta fHear feRaa |

U%el 2 URRUR. HAclold], deed - (1/2x4=2)
%qUS - ® =qUS - =q
(1)=flawmer 3IATETHTRI JRIH, ATeTd, |
(2 )arsrRrretar, 31oto1 BRIGHI UL |
(3 )gaetier 31¥e1 greeatfol: Wi dIdiciius Bddl eavid |
(3 )eretenfuamercsoy 31fRae 5Tc191 efidcia stafd |
meel 3 Raifebd UG Y gl foioflerarel - (1x4= 4)

(1) sftzrerer faare: wfcen e sie1ad |
(2) arpemerey Bemms sttt 3ife |

(3) sifesret wwr e afee qoud |
(2) srer wemaercter 3i1fe |

U%el 4 AACIIGUGIHNH, UZRR deleldl dead - (1/2x4=2)
(1) e BT
(2) e el
(3) wow e
(a) aqa ifer
(L/2x4= 2)

N%el 5 QGTele, 318 A Acloldl, meed -
(1) ge 31T |

D

(2) sredrge urcflel et |
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U2l 6 Tl R aldaelicl HNsRd —
(1) a1 Tcars gam 31t |
(2) =ft = Taeriean we deter 3ETed |
(3) gvr 3reieaRIE ofus Gereer il |

)
)
(a) ~rerea fadres <Isk Sibew g=I HidRIs 31e7ad |
(5) oftzrdivr =16 3reion clevivR 31T sErcHd |

)

(6) sfieror: 3ol wE IRl aferewr snsd iRl wRfa ol | |

Work Sheet -5
ged 1 3ienfaifad =are sroprem 3faauala fkicar Raaeeranfa greaa —

GII8TbIRT qdlold ,  cdd , IEm
=M ¢ - [1] ------ =faz |
%fas - eofaitoren wew! [2]------ @ ITBf !
T - 3[Ed AU [3]------ arcelfd |
=fd: — aroror TR [4]------ a1afa |

(1x4= 4)

(1/2x4= 2)

(1x4= 4)
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ued 3 facliouaIae] uRwuR deleldl, dd

(1) s YRIcoTa |
(2) s ST |
(8) == 3ufe |
(a) efiderer afe:
UZel 4 UAHACIEDUGTEId], URRUR, dclold] Mend -
(1) udes =AfTar
(2) st R
(3) et
(a) =t fearees

961 5 UGcd 2AGISId, AeRIGR dlaefa TeRld -
(1) qerea (2) gwer (3) eresfa (a) sifza
"eel 6 eIaIele] 318 wE Aclold ded -

(1) oycteter o |

(2) doms arft
(3) arer oTRIl
() arom ey |

ugsl 7 ufem Tafdcdl Yaed W HAwqRd folad

93 30 12315 8345 10300
uyed 8 fore waftcar dua gt qonvnet a6l Avgd foxaa
Ueed 9 el Tded PRI dld wTRd folwad |

U%el 10 <lel Tcdle3 ATAEG, ofdl wdedqd folad |

(1/2x4= 2)

(1/2x4 = 2)

(U/x4 = 4)

(1/2%4 = 2)

(1/2x4 = 2)

(1/2%4 = 2)
(1/2%4 = 2)
(L/2%4 = 2)
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SUBJECT: MATHEMATICS

Q1 Simplify the following and put an appropriate sign: (2x4=8)

) (-1) + (-5) .....(-7)-(-5) (ii) 42-35+12 ....42-35-12

(i) 6-(-2)+5 ...... -1-(-2)-3 (iv) -135+64+41 .... -159-(-81)+160

Q2 Find the product of the following: (1x6=6)
(i) -15x (-18) (ii) (-8) x (-43) x 0

(iii) (-2-5) x (-6) (iv) (-2) x (-7+13)

(V) -48x 20 x (-1) x (-5) (vi) (-70) x (10-8-39+107)

Q3 Find the value of following: (2x4=8)
(i) [-30-(-18)] + [19+(-13)] (i) [90 +(-5)] + [(-81) = (-9)]

(i) [400 x (-20)] = [(-250) x (-8)] (iv) [-155 +(-100)] = [-300 + 45]

Q4 Using properties of integers, find the value of : (2x5=10)
(i) -295 x (-63)+(-295) x 33 (i) 20935 x 99 — (-20935)

(iii) (-48) x 105 (iv) -62 x (-199)

(V) (-4) x 20 —(-4) x 15— (-4) x 62 + (-4) x 97
Q5 A submarine left the surface of the water at the rate of -2 metres per second. At that rate, how

long would it take the submarine to reach -60 meters level ? @)
Q6 Verify the following and also name the property used : (2x4=8)
(i) 20 x [5x (-16)] = (20 x 5) x (-16) (ii) 18 x [100 +(-5)] = 18 x 100 + 18 x (-5)
(iii) (-445) + 315 = 315 + (-445) (iv) (-20) X [(-3)+9)] = (-20) x (-3) + (-20) x 9
Q7 The product of two numbers is -180. If one number is 12, find the other number. (2)

Q8 Ina quiz contest, 2 points are given for every correct answer and -1 point is given for every
wrong answer. Riyaz scores 15 points. If he got 9 answers correct, how many answers did he get
wrong ? 3)

Q9 In a freezer, the temperature falls by 3°C every 4 minutes. In how much time water kept at 38°C
will freeze into an ice ? 3

Q10 Ravi cut his birthday cake in 12 equal pieces. His family members ate 2/3 portion of the cake.

His friends ate ¥4 portion of the cake and remaining portion of the cake was left for his loyal

servant Ramu. Find the portion of cake and number of pieces left for Ramu. 3)
Q11 Which is greater :
(1) 2/7 of % or 3/50f5/8 (i) % of 6/7 or 2/3of 3/7 (2x2=4)
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Q12 Find the perimeter of isosceles triangular sheet which has a base of length 5% m and one

side 5% m in length. (3)
Q13 Find the product of the following: (1x4=4)
. 2 .. 9 1
i sx11 (i) 6—x1—-
1 1 . 1 5
(iii) 3EX 145 (iv) 6;><5g
Q14 Divide the following: (1x4 =4)
: L1 A 51
(i) 20~ (i) 8+2-
—— Y : 3., ,1
(i) 82+ 57 (iv) 25 +3
Q15 Simplify the following: (2x3=6)

() 5 of(5+3) +23

(i) 2+ix2-2xZ:q1
4 2 2 3 8 4

(iii) %+—x§+§—%

Q16 Multiply the following decimals : (1x4=4)
(i) 0.9x0.4 (ii) 2.63 x 0.00004

(iii) 0.009 x 0.09 (iv) 0.678 x 860

Q17. 20 shirts of the same size were stitched from 52 %m of cloth. Find the length of the

cloth used in stitching each shirt. (3)
Q18 A man left half of his money for his wife. He divided the remaining money equally among
his three children. How much did each child get ? @)
Q19 A taxi driver charges Rs.10.80 per km. How much will he charge for a journey of
308.5 km ? (3)
Q20 Convert: (1x4=4)
(i) 700 m to km (i) 26 mmtom
(ili) 15 gtomg (iv) 8.54 m to mm
Q21 Find the quotient of the following : (1x3 =3)
(i) 98.27+12
(i) 34+ 4.25
(iii) 0.8432+ 0.8
Q22 Ms. Sadhana bought 13.5 litres of refined oil for Rs.1328.4. Find its cost per litre. 3
Q23 Shahid’s last six batting scores were 138, 144, 155, 142, 167, 172. What was his 3

meanscores. Also find the range of the scores.
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Q24 Simplify the following :
(i) 4.105+2.37-5.2
(ii) 11.001 — 2.36 + 4.965 — 5.7
(iii) 100 — 3.067 — 33.0689 — 21.2
Q25 Find the mode, median and mean of the following set of data :
13, 20,10, 10, 12, 14, 16,16, 18, 18, 18, 25, 14

Q26 How many jars each holding 1.75 kg of jam can be filled from a vessel containing 100 kg

of jam and how much remains?
Q27 Given 46 x 93 = 4278. Without actually multiplying find:

(i) 0.46x0.93 (if) 46 x 0.093
Q28 Find the value of following :
(i) 9.7+ 100 (if) 0.039 + 10
(iii) 80 + 10000 (iv) 0.0893 x 1000
(v) 49.87 x 100 (vi) 357.126 x 10000

Q29 Evaluate the following :

(i) 3x0.3x0.03x0.003x 3000

(i) 0.05x5-0.005x5

(iii) 213 +2.013 + 0.213 + 2.0013

(iv) 15.7-5.91

Q30 Write the additive inverse and multiplicative inverse of following integers :
(i) -23 (ii) 15 (iii) -715 (iv) 0

Activity

1. Represent the product of following on a (10 x 10) Mathematical grid:

a) 0.3x0.7
b) 0.5%0.5

2. During the festive season, the sales of the various gadgets is as under :

Mixer Microwave Toaster DVD Player | Pod

250 180 200 260 50

Represent the above information by a bar graph taking an appropriate scale.

©)

©)

(3)

(2x2=4)

(1x6=6)

(1x4= 4)

(1x4=4)
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SUBJECT: SCIENCE

Objective:

Revision of concepts
Application of the concepts to real life situations.
Skills to carry out activities and research to develop scientific aptitude.

Instructions:

» w0 D P

© © N o

11.
12.
13.
14.
15.

16.
17.

18.

Attempt the questions keeping in mind the weightage of each questions.
Activities: 1. Name and paste the pictures of three insectivorous plants.

2. Make a greeting card using turmeric as an indicator.

Define nutrition 1)
Cuscuta is a partial parasite and without leaves and chlorophyll. Justify the statement. (1)
What happens during the absorption of food in human beings? 1)
Our stomach contains hydrochloric acid but we do not experience any burning sensation.
Give reason. 1)

What is neutralization reaction? State two examples of neutralization reaction from your

day-to-day life. 1)
How does milk of magnesia help to relieve stomach pain due to acidity? 1)
All acids are not corrosive. Justify. 1)

Potato is an underground stem that stores food. Where is the food prepared in the plant?

What is the function of mucus present in the stomach of a human being? @)
. You must have observed that doctors administer patients with glucose drip. How does
glucose help the patient to recover? (2
Why is a digital thermometer preferred over clinical thermometer? (2)
Shopkeepers selling ice-blocks usually cover them with jute sacks. Explain. @)
Why is mercury used in thermometers? (2)
Differentiate between acid and base. 2
Three test tubes are kept on the table. One of them contains distilled water, the other
two contain lemon juice and soap solution. If you are given red and blue litmus papers,
how will you identify the contents? @)
List two different types of nutrition with examples of each. 3

Nitrogen is an essential nutrient for plant growth. But farmers who cultivate pulse crops like green
gram, black gram etc.do not use nitrogenous fertilizers during cultivation. Why? 3)

Write the difference between the digestion in human beings and ruminants. (3)
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19. Define conduction, convection and radiation.

20. Why does ice kept in a steel bowl melt whereas when kept in a plastic bowl, it doesn’t?
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Subject: Social Science

History

Answer the following questions:

1.

© © N o g b W D

10.
11.
12.
13.

o & w D P

Why was the first dynasty of the Sultanate period called the Slave Dynasty?
Who were the most powerful rulers in South India?

What are travelogues?

Who wrote Rajatarangini? What does it contain?

How did the Chola temples help in the development of agriculture?

Who is called the real founder of the Sultanate and why?

How have coins and inscriptions contributed to our knowledge of history?

N DD NN

What do you understand by Igta System?

What do you know about the term ‘Rajputs’? Who were they? Mention some important Rajput
rulers?

Name two Persian customs introduced by Balban? Why were people against them?

Write a short note on the life of Razia Sultan.

W W w w

What were the three main changes that took place in the medieval period?
On the outline map of India, mark the following Regional Kingdoms-

a) Tomars b) Chauhans c) Gurjara-Pratiharas d) Rastrakutas e) Palas 3
) Cholas

PROJECT WORK

Imagine you are in the tourism department. Design a pamphlet of the monuments in North India to
attract tourists to visit these places. (any five)

Hints-Location, when and how to visit, where to stay, importance of the monument etc.

Civics
Answer the following questions:
Why is India called a democratic republic country?
What does democracy imply?

Name the two important principles of democracy.

N

How can a democratic government become meaningful?

What do you understand by ‘democracy’? Enumerate the difference between direct and indirect
democracy. 3
Describe the rights which are guaranteed by the Indian constitution to all its people. What is the
purpose behind this? 3

32




7. What do you understand by ‘political discipline of citizens'? Discuss.

8. How are social and economic equality vital for the success of democracy?

9. What do you understand by democratic society?

10. Make a G.O. depicting various pillars of democracy. Explain briefly.
PROJECT WORK

Find out the form of government and their heads in the seven neighbouring countries of India.

Afghanistan, Pakistan, Myanmar, Bangladesh, China, Bhutan and Nepal.
(Mark them on the Political map of the World)

Geography

1. What does Geography deal with?

2. What do you understand by the term ‘Ecosystem’?

3. Why is lithosphere important for human beings?

4. Define the term ‘urbanization’.

5. What are rocks and minerals? List any four uses.

6. List any four reasons for environmental pollution.

7. Mention four ways in which atmosphere sustains life on earth.

8. Write a short note on Chipko Movement.

9. Define Environment. Make a G.O. depicting the components of our environment

10. Describe any three domains of the earth with the help of a well-labelled diagram.

11. Explain the three concentric layers of the earth with the help of a well-labelled diagram.
12. Enumerate any three differences between the characteristics of sedimentary and igneous rocks.
13. Explain the working of the Rock Cycle with the help of a well-labelled diagram.
Project Work

g W W w

mwwwwNNNNHI—‘I—‘I—‘

Find out about two famous Indian environmentalists who have spent several years of their lives to save the

environment along with their contribution for the environment.
Hints:
a) Maneka Gandhi

b) Her contribution in the field environment along with the relevant pictures.
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